Module Name : Mathematics
Exam Date : 17-Feb-2022 Batch : 09:00-12:00

Sr. No. Question Body and Alternatives

If G is an Abelian group of order O(G) and if p is a prime number such that px| O(G),
p** [ O(G), then G has a subgroup of order :

G epl] 6T360ILIETT G6ULD, O(G) 6TEITLIG| JHSHGHVGS\60T QUflend YGLW. p 6l
L& 676001, GLOGYILD pX|O(G), p*+!1[O(G) ¢6Teiled G601 6] 2 L Gev&Gleu
alifleng

A:L




I

x+]

If F is a field. Then its only ideals are :
F 6TedTLIS 62(IH L{6VLD 616016V, 21 &Hsniem Ll F il 616D 61T LI BI85 61T TG 60T

A : (O) only
(O) LL_(HGLD
B : F only
F 0L (G
C : Both (O) and F — (Correct Alternative)
(O) DO F
D : Real numbers
GO UG UL 600T &5 6T
Let f: G — G' be the homomorphism and let e, e, be their respective identities, then :

f:G— G @ Q&FWe6V LOMMTES CHMISHH6V, GLOGIILD e, e (LPMMBEU & 60T FLO6oT1&H6T 6T6vfl6L :

A : f(e;) = e; — (Correct Alternative)

fle)) = ey
B: f(ey) =e,

fle) = e
C: fle;)=eqer

fle1) =ee




D:

fleo) = —

flog) = —L

Let H be a subgroup of G. Index of Hin G is :
H eTedTLI G G-60T 2_L' (& 6VLD eT60fl6v, H-601 &IUT(H) 6T600T

A

Order (G) x Order (H)
G-601 eUiflem & er6vor x H-60T 6UIflem& eT600T

Order (G)
Order (H)

— (Correct Alternative)

(G) 60T eurflend 616001

(H) 601 euflem& eT6001

: Order (G) + Order (H)

G-601 euflen & 6r6vor + H-60T 6UIfl6m) & eT600T

: Order (G) — Order (H)

G-601 eUiflem& er6vor - H-60T aUIflenr& eTevor

The number of Conjugate classes in Sy is :

S, —60T @) 6MEOOTFF I HS 6UG L1L|SH6rTl60T 6T600T6001 186015 :

A

3
3




D : 5 — (Correct Alternative)

@)
(VNN NN NENC NN N N

If G is a finite group, then the number of Sylow p-subgroups (p is a prime number) is of the form :
G 6T60TLISI 62([H (LPLY.6)6TEIT @H6VLD 6T60116V Sylow p 2L (&H6VIHl & 6rfl 60T 6T600T6001 1856085 Ul 60T
6ULQ QULNITEOTSI (p 62(H LIGIT 6T600T) :

A:1+tp,t<0
I +tp,t<0
B: 1+tp,t>0— (Correct Alternative)
I +tp,t=0
C:1+tp,t>0
l+tp,t>0
D:1+tp,t<0
I +tp,t<0

Which is not a Cauchy sequence ?
@eummieT 67l Smadl QST §6L6m6v ?
A 1/n?

1/n2




B:n/(n+1)
n/(n+1)

C:(n+1)n
(n+1)n

D (-1)" n— (Correct Alternative)
(-D%n

Asequence is convergent < if it is bounded and has :

62(F SRS ClHTLILNanT) < Uil &N Waney m mwn

A : No limit point
6T6LEM6V L|6Terfl @Mmen el
B : Two limit points
@ 7evor(h) 6T6LEMAV Lj6iTerfl 2_6Termen 6l
C : countable limit points
6T600T600T | L& &85 6T6VEM6V L|6iT6rT| 2_6TeTemn6l
D : Only one limit point — (Correct Alternative)
&(IH 6TELEMEV L|6iTerfl 2_6iTeTemel
Leta;=1,ay=14,a3=1.41,a4=1.414, .... . Then the sequence {a ,} 1sa:
aj=1,ay=14,ay;=141,a,=1.414, ..... 6T60TS, 6T60116V {a ,} 6TEOTM QWM eUflen&F W TeOTS!

A : Converging sequence in the rational field

NS & (LN M1 6T600TSH EITITEVITEOT &6ITEH 6L R(HMIEG aUflenFWwWmTHI M
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B : Cauchy sequence of irrational numbers

NSRS UNMIT 6TE0OTSHETTEVITET 62(H & Tadl auiflem & W MG LD
C : Cauchy sequence of rational numbers — (Correct Alternative)

NS\ & (LM 6T600TSHEITITEVITE0T ([ FHMad] auflemFwm@Ld
D : Not a Cauchy sequence

smadl auflemsuisvey

The collection of all intervals of the form %mw:%, n=2 3, 4, ... is an open

covering of which interval 2

LI x<%, n=2, 3, 4, ... étetim @lenL_CleuaTldenmeomer GHTGLIL Jh601H 6THG

n

@QenL_Gleuefluilesr Hmnha 2 MMILIMEGLD 2

A:(1,2)
(1,2)
B:(0,2)
(0,2)
C: (0, 1) — (Correct Alternative)
(0, 1)
D: [0, 1]
[0, 1]
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For a sequence {a,}

,-rm i m =k
|— ifn=2"3

a, =1k form,keN
|0 otherwise

the set of all limit points of the sequence is :

i’m e

0 s o2z l_ rn_2 3 =

{a,} eT6dim QETL) suflenswmsng), o, = | k .
| 0 wpperey

euflemau6in 6T606M6LLI LI6TTEITIGHEI60T SH6U0TLDIT60TE)

A : [0, o] — (Correct Alternative)
[0, o]
B: [0, ©)
[0, )
C: (0, ]
(0, o]
D : (0, »)
(0, )

Any open covering of an arbitrary set A in R™ has :

m, k € N @&CIGTLI]

R"-6V BFH 60D 62([H F600TLD A—60T HMHS 2 MMES :

A : disjoint open sets only

2 _6TGET R60TEN MG UITETM Q6UL_ LG EGETETETT HIMHSH 8600ThHIS6T DL (HGLD @) [H&H G LD.

B : finite subcover

(LD19.6)6ITEIT S160)1600T 2_600 M 2_600T(H).
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C : countable subcover — (Correct Alternative)
6T600T600T | L& 555 H160600T 2_60M 2_600T(H).
D : no countable subcover

6T600T6001 L5588 S160)600T 2_60)(M) &) 6V60)16V.

Let f(x) = ™, -m < x <m, then the value of Fourier coefficient a; is :

(-m, ) -6V e —60T L, [f1UII (&600T&hLD ag —60T LOGH)LIL]

A

coshm

1
— cosh+

_‘1

@
ER

sinhm
— (Correct Alternative)
sinhm

coshm

coshm

o
I 90 9 m

Let f(x) = x sinx, 0 < x < 2, then the value of Fourier coefficient a; is :
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(0, 2m) —6L f(x) = x sinx —60T LL U @& 600T& LD a;—60T LOGH)LIL]

Al
1
B: l
2
1
2
C: -1

2 _(Correct Alternative)

Let f be piecewise continuous on (-0, c0) with period 2n and let M denote the maximum value of [f(x)| for all x. If 5,
denotes the n'h arithmetic mean of the Fourier series for f then for all n and all x.

f 6T60T LIS (-00, 0) —6L @ 6ML LT QS TLJ&EFIWITETSILD 21 @) 60 L_GleUerf] 2 _6Tem&InmEGLD. M 6T60T LIS
X—60T 6T6VEVIT LG LIL| 85615 & @& LDIT60T [f(x)| —60T LOLIQLIIHLD LDGF)L1L] Q&S LD. o, 6T60T LIS L if iy
QHTLIFR f—60T n—6US Sl H\EFIEFIWLTS 2 6o, @& x LDMMILD n —63T 6TELEVIT

L0G)LIL| 5 6H & & L0M6oTS! 6T6uf 6V,
A oy(x)[>M
lon(x)[ > M

B : |6,(X)| <M — (Correct Alternative)
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C:

D:

IHM=&W—H

lon(x)| =M
lon(x)| > 1
lon(x)| > 1
lon(x)[ =1

lon(®)[ =1

, 0 € x < 27, then the value of ac in the Fourier series.

f(x) = & (m —x)?, 0 <x < 2 61601160 LIy QHTL_1fl6d co 66T AW :

A:

— (Correct Alternative)
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Let f be continuous on [0, 2n] and periodic with period 2n. Let {S,,} denote the sequence of partial sums of the Fourier
series generated by f, then :

f 6T6e0TM SFMTFLIMEOTS [0, 2n]-6V QG ML JEFFWITEOTS LDMMILD &T6V |66 21 G185 T600T L. &HTEVEUL L&
FITTL] 6T60T8. GOSN {S,} 3601 £ L6V LIMLUILNG&HESmIQU LIGHE Fal LeV&efler QSTLIES
6T6or 16V

A

L.Liim S, =0 on [0, 21]

M—oC

lLi.m S, =0 on [0, 2x]

ni—»oo

l.i.m S, =f on [0, 2x] _
n—a — (Correct Alternative)

l.i.m S, =f on [0, 2x]

M—»a0

© Li.m 8, = = on [0, 2n]

MN—ac

l.i.m S, = = on [0, 2n]

M—00

QT " 02 B by
[ i)™ dx =2+ 3 (af +b5)
0 n=I ’

[GE +b?2 }

I8

2T (]2
| [fx}= dx = =2 +
5 2

e
I
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: COSNX, &, (x] = L5|'rm>r;

N
(ppsnng Fmunrs QHsSEW Ceuailiiled epeubleumm FmiUb —— :

1
The orthonormal set - = .
Solx) P & q(x) = J.:;

(n=1, 2, ...)is complete in the space in which each function has :

fhernmb €R60TMY6ML_ILI 660TMI &Gl ST6TI) Cl&FmIE &&meur & 6UUTLD

1 ] | %
onlX) = ==, by X} = —=cosnx, &, (x) = —=sinnx(n = 1, 2, . . .} SpSlLieT
0 \!2? 2n—1 \.-’T_. 2n

A : Its derivative ' is continuous on the interval -t <x <z
leuMmMI6T U FHEHRE&HWD £, -1 < x <7 6T6oTM @eMLQal6TIuleL QASTLFFRWTES @ HEGSLD.
B : Its derivative f' is uniformly continuous on the interval -1 <x <n
M6 UEMBEG&H(LD f', -1 < x <1 6T60TM @) eMmLQeuerluiev Egmer QSTLIFFRWITS
QHSSLD.
C : Its derivative f' is piecewise continuous on the interval -n <x <7 — (Correct Alternative)
UMM U BB H (LD ', 60T -1 < x <7 6T60TM @6 euerluilev Gieoor(H) &l6voTL T6oT
QHTLIFNWTS @ HESGLD.
D : Its derivative f'is discontinuous at the point x = 0
leuMmMI6T U FHEHC SR ' 3LeoT&l x = 0 6TedTM Lj6Terflullel QSTLIFRWMMSTH @) (He G LD.
The envelope of one parameter family of planes is called a :

@(H FLOG6T 3|6TeY[H &HILD LIS 60T 2 60V WITEOTS! G LD & 600T LU M MIGT 6THIQUTH @) (HEGLD ?

A : Developable surface — (Correct Alternative)
2 (HOUMHSH &)W GLOMUITLIL]

B : Parametric plane
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3|66 (H FLOSHETLD
C : Asymptotic plane
SIPSHWDHD FLDFHETLD
D : Indicatrix surface
SGSMISTLIquilesT GLMUITLILY
If at a point on a surface, then the point is called an ordinary point.

Qeuerfluflev iemLDIHSI6T6T @ Li6Terflulmeorsi, &m&myeoor Leimerfl 6T6of6v, O LIL|6Ter | WImeoTs)
6T60TM &L (HLILITL_ 6L Bleome)] G1& Ulu|LD.

X1t =0

>
==
N

Xt =0
B: xrn<0
RXrn<0
C: 4xKp>0
X% >0
D: x%H =0 — (Correct Alternative)

Two parametric curves through a point P is said to be orthogonal if at P.

P eTedT Li6Terflufleb @ mevor(h S160)600T U6V 6UEMETEUEMT&H6T QIEFMBIGHTLIY6V Q6UL 198 G & TeTeT

GHemauulmeoT &L (KLU

=2 _ (Correct Alternative)




C: n ]
B
T
SL
)

D: . Hh=—1

& ?2:_]

2 22 The edge of regression of an osculating developable is

2L,V GC6VL 2_(HeUMEHS LlereoremLe] ellerflinL] :

A : The space curve itself — (Correct Alternative)
Qeuerfl auemeTeusmy

B : not a space curve

Q6u6rT] GUEMETEUENTLITES @) (HEEH TSI
C : developable

N BSH WTEH @)(HE LD
D : a surface

@ CLouTLY

23 23 The formula to find Gaussian curvature kg is :
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& ITenSl LI 60T 6Uem 66 kg—60T LDGLI6M LI &IT600T LIS M &0l GHSH T :

A:[r',N, 1]
[r', N, ']
B : [r", N, '] — (Correct Alternative)
[r", N, r']
C:[r",N, 1]
[r", N, "]
D:[r", N, ™
[r", N, "]

The curvature of the spherical indicatrix of the principal normal is :

Gamears MW B 516 CHT&HS5SI6 G TL Q60T 6UEM6ITEY 6T60TLIS :

A
kf

{kz-l-r

3 23
2 4 (k! — K'5)

- 3
(k‘/' = T2]

3 3
2)° + (k' —K'7)

(k2 +22)
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48 2
kg . {1(2 La] 4 “(TI _k]T}
T 3

“(2 + Tz.}

— (Correct Alternative)

B 2
_ U(z Lae] A “(T] _k]T}

kZ =
3
(kz + 'Tz}
b 12 (k2 + -2 .}3 + (k! = k]T]E
1= : 3
|:k2 + Té}
. 3 2
kg . (k2 ++2) + (ks _k]T}
§i

. 2
|:|t12 + 1.'2]

A metal alloy used in manufacture of rifles uses two ingredients A and B. A total of 120 units of alloy is used for
production. Not more than 60 units of alloy is used of A can be used and atleast 40 units of ingredient B must be used
in the alloy. Ingredient A costs of Rs. 4 per unit and ingredient B costs Rs. 6 per unit. The company manufacturing
rifles is keen to minimize its cost. Write the mathematical formulation of the problem.

SUUMEHG6T SWmHlilev LweTURSSLILGILWD QLOLL 6V 3{6uTl @ Fevor(h QUITIHL 8 6emerT
LweTUBGSSIHME. A IDMHMILD B QILOTES S 120 W6l (H&6T LweTUBh &S LILOGSMS!,
ELOGVLIQILITIHET A AHHLLFLD 60 W,eof]L_(h&6T LILLIGTLI(H &S 6VITLD. eLN6VLIGILITIHET B G6mMIbS
LIL&LD 40 Ww,eof1L_ (B 86T LIWedTLI(H & &H6VITLD. 62(H WheoflIl_(h& & eLneVLIQLITIH6T A—60T Ql&F6V6) €h.4,
eLNEVLIQUITIHET B—60T Q& 66 €Mh.6. SLDGILI6o, SILILITES WM& G0 CQFemel GHemma:s

S L LR &eormeot. LI 78 & eneor Uil6or allqalemLnL1en L 6T(LSI5.

A : Minimize
z=4x; + 6xy
Sub. to
X1 + Xy = 120 5




X1 <60 ;xy>40;
X], Xp > 0 — (Correct Alternative)
Minimize

z=4x; + 6xy
Sub. to
X;+x,=120;

X1 <60;xy>40;
X1, X2 2>0

: Maximize
z=06x; +4x,
Sub. to

X] TX,=120;

X1 =260;xy>40;
X1, X2 >0
Maximize

z=06x] 4%y
Sub. to
X]+x,=120;

X1 =60;xy>40;
X{,Xp >0

: Minimize

z=4x; + 6xy
Sub. to
X]-Xp=120;

X1 <60;xy,>40;
X1, X2 >0

Minimize
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z=4x +6x,
Sub. to

X1 -Xp=120;
x1<60;%x,>40;
X1, X2 =0

D : Minimize

z=06x; +4x,
Sub. to
X1 + Xy = 120 ;

X1 <60;%x,>40;x1,x,20
Minimize

z=06x +4x,

Sub. to

X]+x,=120;

X1 <60;%x5)>240;x1,X=0

Use Dynamic programming to solve the following Linear Programming Problem.
Maximize z = 3x;| + 5x,

Subject to x| <4

X) <6

3x;+2x, <18

X1,Xp >0

emLeris UBIM&HRITITLD (pemmenl LILeTLIR &S LleTeu(hLd LPP -3 SIss.
Maximize z = 3x| + 5x,

Subject to x| <4

Xy <6

3x; +2x, <18

X1, X, >0
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A :x;=2;xy)=06;Max.z=36—(Correct Alternative)
X]=2;Xy)=6;Max.z=36
B:x;=3;xp=6;Max.z=39
X1 =3 ;Xy=6;Max.z=39
C:x1=4;xp=3;Max.z=27
X1 =4;xy=3;Max.z=27
D:x;=2;%xy=6;Max.z=35
X]=2;Xy=06;Max.z=35

SR~ e
# I —p

The p—k formula for M |G| 1 model as W, =
is :
M| G| 1 eulflem& (WemmiileL r—k FGHJLD

2
wq=]+c”3'- P__.E(s).
2 l—p

Cg2—601 oL

A1 Cg2 =1—(Correct Alternative)
CB2 = 1

B:cg2<l

-E(s). The value of Cp?
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Cg2>1

The simplest form of transportation model was first presented by :

1q JreaTerv@LIMIGLeaqeor Lom G iflullesr ererflll (pemmenwl (N 56d6v QS el g S 6T :

A : G.B. Dantzig

G.B. CLette {15
B : T.C. Koopmans

T.C. G LIGLO6OTEN
C : Simplex
FlbLIeu& 6N
D : F.L. Hitchcock — (Correct Alternative)
FL. @0 &&5M8
In a transportation problem, if there are m + n equations, then the total number of basic variables :

GUITE@G6UTE S 560018 HI60 m + n FLOETLIMT(HS6T @) (H&GWELMS, S LiLenL Ml & erfleor
QDTS G5 6T600T600T 1 56M 55

A : equals 2m + 2n

2m + 2n FLO60T
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B : will be atmost 2m + 2n

B &HLLELD 2m + 2n
C : will be atleast 2m + 2n — (Correct Alternative)

&6MOMbBS LILFLD 2m + 2n
D : equalsm+n

m +n FLO6OT

When the supply exceeds demand, the constraints of

the transportation problem will appear as :

BIGW ML CHemeusnl LEMIDGCLITSI, CLIMEG6UTSH S 86008 & 60T &L (HLILTH &6T

A M - — '
Exij={]i‘]= 1, 2 e . Exijibj,jz 2.
j=3 i=1
m m
injz{jiJ]=]J2,...,m,Exij‘—bjj=]2

j=1 i

6T6LELTEIIGHLOITET i, —&H(GLD

B' m i
Exijﬂoi,i=1,2,....m:Zx[J-:bi,j:],E.
i=1 i=1
I m
5 Xij‘-'_:(]i,i = Ty S)‘(ij =b:|,j= [ P

i=1 i=1
6T6LELTENIGLOITGT i, —-H(@HLD
m

m; ¥ X=b.i= L2

C: m )
> =0 i=1.2 .
i=1 ja=i]

..nand x; = Ofor alli, j

— (Correct Alternative)

o, Xij =0

...nandx; = Oforalli, |




31

32

31

32

m m
2Xqp=aui=1L2.am; Y Xg=bp,j= L2 .amxz0

el |

| i=1
6T6LELITEIIGHLOMET i, -&H(HLD

m

D: m
>xp=a,i=1L2.,m; Y x=bj=12.,nandx = 0foralli,j

ij i 1 i

i=1 i=1

Kewolfl B o= V2w Wi = 0

A=1,2,..m > X J i

1 =
ET6LELTEIIGLDITET |, -SH@GLD

In a Schwarz inequality ||<|[x|| [[y]|, V X, y then the equality sign holds if :
e &Geumeny Finldlesremtouleor LiLg. ||<|[x|| |lyll, V x, y eT6ofl6V &FLOLD 6T60T LIS

Atxly
xly
B:x=y
X=Yy
C:x#y
XZ£y
D : x and y are linearly dependent

x LDOHMID v S& Wweor CBIfluley SFITTL 6T

Correct Answer : **

If B, B' are Banach spaces and if T is Continuous Linear Transform from B to B' then T is open if :

T:B — B, LDHMILD B' Q4G Ul6oT LIMeoTTsh Gleuerflgem Gayiid B-uledSlpba B-6@ Q&Feuaild
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QETLIFAWmeor CHIIW6L 2 (HLTMMD T @0H HMbHS FIL| eTevflev:

A:Tis(l1-1)
T eTeoTLIS (1-1)
B : T is onto — (Correct Alternative)
T eTeoTLIGI GLOGV FITITL
C : T is Identity map
T 6Te0T LIS (LM MITIHEDILD FITITL
D : T is Bijective
T 6Te0TLISI @BLIM FTiL

If X and Y be Banach space, T : X — Y is a Linear map which is closed and surjective then :

T:X — Y 6TeorLUS X-60BH&S Y QFevsvld GHifluley FmyL GLavid eLplgul @@Lim FTiL] 6T6ot]6v:

A : T is continuous and not open
T QSMTLIFFIWMTErS! LDMHMID HMHSH T 3606V
B : T is continuous and closed
T QSTLIFF WTeors LoMMILD LIS
C : T is not continuous and not open
TQSTLIFRWDOHDS O EWHSHS {606

D : T is continuous and open — (Correct Alternative)

T QMLIFFWMers LDMHmID HMHSS!




o0

Let {e,} be an orthonormal sequence in a Hibert space H, then > oy ey
k=1

converges (oi's are scalars) if and only if series converges.

H eTetrm amlsoufL Qeuefluiled (s} eTETLIG @M 4[HCHTEAITHLOED

e

b
auflens erefled =, ereiim QHTLYT @emevonul CousmBLD (os's are scalars)

6T HMID 1L HCL —— QST @emevorni GCeueuor(hLd

— (Correct Alternative)
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o
2, o
k=1

Let X be Hilbert space and E be an orthonormal basis of X. Then E is a basis of X & :

X 6160181 @mMleuLITL Qeuarf] LDMHMILD E 6T60TLISI X—60T G1& M55 21Q. 886 600TLD

6T6T 16V E 6T60TLIS B1Q S:5600TID <

A : X 1s infinite dimensional

X 6TedTLIG! (LNIg.em T LI 0meoor D 2 _60)L_U Sl
B : X is countable

X 6T60T LIS 6T600T6001 |58 58 S
C: X is uncountable
X 6T60TLI G| 6T600T6001 |55 5 TS S
D : X is finite dimensional — (Correct Alternative)

X eT6dTLIG (LPLY.6mI LIFIDmeoor D @ _6mL_UlS
Let k be subspace of a Hilbert space X, then k is closed if and only if :
aMLGLITL_Geuer] X—6oT 2_6TGleU6r] k 6T60T M6V, k QL60TS! LI ULISTE @ (HIHS M6V LD MHMILD
@ BHSMeL DL (HEGLD:
A kll -k

ki =k
B:kllik
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KL +k
Cipl= 10}
k= {0}
Dkt # {0y
Kt {0}
Correct Answer : **

A rational function R(z) of order p has :

SR UWMFSFTTL 66 R(z), euflend p erevflev, R(z) 6T6dTLIS! :

A : p zeros
p LSl WIKIG 6T
B : p poles
p SI(HEUMISHET
C : p zeros and p poles — (Correct Alternative)
p LL2 eS| WIMBISS 6T LM MILD p &I(H6UMISH6IT
D : p no zeros and no poles
p L33l UIMIS6T LDMHMILD SI[HEUMHIEHET ©)6V60)16V
2

The radius of convergence of the power series S| 1+ —] 7

Ay 5

.
£

n

]fm%m@mm:

SBEE5A5MY 3|1+

s El 5
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‘e

2

o2

: ¢"2 — (Correct Alternative)

1

Every continuous function is uniformly continuous on :

6TVEVIT QIGTLIEFF FMFLUE6T FmeT QSTLIFF 2 L ulg :

A

: any set

J&M6US 85600TLD

. a closed set

eLNLQ Ul 856007 LD

: a bounded set

GULDL|60)L_UI 8600TLD

: a compact set — (Correct Alternative)

FHEF 55 LDTE0T & 600TLD
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oo

If f(z) = > a, z" is a power series converging at z = 1, then f(z) tends to f(1) as z tends
0

fo 1in any stolz angle. (f(z) and (1) as a non-tangential limit) is known as :

o

flz) =3 a,z" 66iug @ AGGG euflens z = 1, @61 ¢HRIGlTeD L6or
O

flz) = f(1), z— 1 eT6iTLIG] 6rVGLMEL6V GHTEIHHIEL EHHGLD 6T6TLIG)

A : Abel's Limit theorem — (Correct Alternative)
g Lil6v6N eTevemev CHMMLD
B : Abel's theorem on radius of convergence
2T ROEISSHI6 gLV GHHMLD
C : Cauchy's theorem
Gamadlerv GsMmLD
D : Fundamental theorem of Algebra
@M &emls I LILmLS C5MHMLD

A complex - valued function f(z) defined on an open set €, is said to be analytic in € if it has a derivative at :

@ HMHS G600TLD Q —B)6V 62(H F1 5560 IDFLIL| FTTLITET f(z) elemmMUMISELILIH6US, 62(H
L@&LIUMUIe| eTeorLILI(HeUS! :

A : each point of Q — (Correct Alternative)
Q —@)60T eI EUM[H Lemerfluflev

B : some points of Q

Q -@\60r Flev LeTerflsertley
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C : no point of Q

Q —@) 601 LeTerflsmemrmm

D : infinite point of Q

Q -@\60T (WP MITLI LeTerflgerfleu

Let DCR?, if XM, is a convergent series of real numbers and if |f, (z) |£M,,. ne N, and

Ze D then an O ¢ where f(z) is the sum of the given series. This is tThe statement
of

DCR? 6T GUTG| EMn CloliClieu s eflet sp(hMilememuriil FTHL LOMHMILD

fa(z) |[< Mn,neN, ze Detefled 7 —2 5 f, 2uHed f(z) eTeOTLZ
QEIBSHSUULL CSTLfl6l & (BH60 4G, Q& mm)

A : Divergence theorem
606U T 60Ten G5 MMLD

B : Maclaurin series
Q& euriflesr GMMLD

C : Taylor's series — (Correct Alternative)
QLWevy GHMmMmLD

D : Weiestrass M-Test
QeUUIENVL TN M — G&F M8 60)60T

The differential equation ydx - 2xdy = 0 represents a family of :
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44

ydx - 2xdy = 0 6T€DILD QUM EHHE S (DG FLO6OTLITL TS HLh&HE600TL 6THS C&MTESGHemIsH
GO&HH DS ?

A : straight lines
CBI&HC&HT(H &6

B : circles
6UL_L_MRI&6IT

C : parabolas — (Correct Alternative)
LI [T 6L 60) 61T UL M1 &5 61T

D : catenaries

FRIS 60 616M6ITeY 86T

The particular integral of the differential equation
(D - 1)(D?-2D +2)y = &*
(D-1)(D?-2D+2)y =¢e*— 6TQILD QUMBHQSHDEF FLOTUTL 19607 GWILILN LS STey :

]

A

_.|><
[
ES

—
—| b3
0]

.y

B

— (Correct Alternative)

=

ool
=

= |
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[

X 2%

]

=|
o

[

x >
11

D: xS

=
1!

3

X o>
e e"x
11

When D = % , then the solution of the differential equation (D2 + D - 1) sinx s :

D= % B QHESGLEUTS], (D? + D - 1) sinx 6T60TMN FLOGTLITL I 60T &6 :

A : cosx - 2sinx — (Correct Alternative)
COSX - 2sInX

B : cosx + 2sinx
cosx + 2sinx

C : sinx - 2cosx
sinx - 2c0sX

D : sinx + 2cosx

sinx + 2cosx

If the homogeneous equation (x2 - 2y2)dx + xydy = 0, then the solution is :
@MEMMLULY Q&ITeoTL (x2 - 2y?)dx + xy dy = 0 6T60TM EUENFHEG & (LD FLOGTLITL L9607 ST6)
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At y2=x2 + cx* — (Correct Alternative)
V2= x2 + ext

B:x2= y2 + cy4
2= y2 + oyt

C:y2=x2-ox
=2 - oxt

D:y2+x2=cx?

y2 + x2 = cx4

Lety = d(x) and w(x) be solutions of y' — 2xy" + (sinx<Sup>2</Sup>)y =10, such that $(0) =
1.¢'(0) = 1, and w(0) = 1, w'(0) = 2. Then the value of Wronskion W{a, w) at x =0is :

y = ¢(x) IOHMID wix) QS @B FryUser v — 2xy + (sink<Sup>2</Sup>)y = 0 aerm
FO@TUTL 96T Hrelser, ¢0) = 1, ¢'(0) = 1 whobn w0)=1,y'(0)=2 QeneusHenaTll
QUTmIG S X = 0 eredrm Lj6menluilcL ¢ WmouLd y 2L &l &7 LS el 6dr 7 maiTen &) LI6oT

A:ez
2

oo)
S o @

C:e
e

D : 1 — (Correct Alternative)
1




The functions sinx, cosx, and sinx - cosx are :

FMJLIS6IT sinx, cosx, LDMMILD sinx - cosx L60TSI :

A : Linearly dependent — (Correct Alternative)
Gl QSHTLILemL UG

B : Linearly independent
Gl QzTLIUDMS!

C : Both Linearly dependent and Linearly independent

Gl QSTLILemLWG Mmmid GBIl QSTLILUMMS!
D : Neither Linearly dependent nor Linearly independent

CGrIlW QSMTLILeMLUSID 606V, CHIIWL QSTLFUDMSID {606V

Calculate the mean deviation from mean from the following data.

Marks : 0-10| 10-20 | 20-30 | 30-40| 40-50 | 50-60 | 60 - 70
MNo. of Students : & 5 8 15 7 & 3

LNsiTex(HLD &HHevedls0, FmEFNeol(bhg sTTF] 61160&H6M60E &H61015HSH (H'6.

LOGIICILI6TT: 0-10|10-20 [ 20-30 | 30-40 | 40-50 | 50- 40 | 60-70
LDIT6OBT6LI] SH61T: 6 5 8 15 7 6 3

A:14.184
14.184
B:15.184
15.184
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C:12.184
12.184

D : 13.184 — (Correct Alternative)
13.184

Two lines of regression are

8x - 10y + 66 =0

40x - 18y -214=0

The variance of x is 9. Find the mean values of x and y.

QEMTH&HHLILIL(H6TET @ QSTLIL CLIMTHGS

8x - 10y + 66 =0

40x - 18y -214=0

Gamh&erflev, x — LFeumUIguileor LDGILIL] 9. x LDMMILD y—60T FFTEN] LDHLIemL 6T S5,

A:13,12
13,12
B:17,12
17,12
C: 11,13
11,13
D : 13, 17 — (Correct Alternative)
13,17

If the moments of variate X are defined by E(x")=0.6,r=1, 2, ..., find out p(x =0), p(x = 1), p(x > 2).
FLOW eUTULIL] X—60T QUIBHOQSTeNs E(x) =0.6,r=1,2, ..., LNereu@mLd DS LIemL 86001855 (Hh) 5. p(x
=0), p(x=1),p(x=2)




A:0.6,05,0
0.6,0.5,0
B:0,04,0.5
0,04,0.5
C:04,0.6,0—(Correct Alternative)
0.4,0.6,0
D:0.1,0.5,0
0.1,0.5,0

Sum of deviations about arithmetic mean is :

6T6v0T &600115 FITEIfl UMM alevsevE6rfletT Fol &S Ten U6 LDSHILIL. . ......

A:l
2
1
Z2
B: 1
4
1
4

C: 0 —(Correct Alternative)
0
D:

S

S
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The probable Error of correlation co-efficient is

QBMTLIL| &600T&MmIG6T 60T &mg&H wiLnmer Llenp m@uu

A _r?
0.6745 1=1)

NTU " _ (Correct Alternative)

] — rEJ
¥

0.6745 (

B: 2 _
0.6635
Jn

0.6635 =)

Jn
C: Jn

0.6740
(1 -r?)

0.6740 *"ﬁ,_
==

D: 2
0980 1L 1°)
Jn

(1 +r?)

7

The normal distribution can be used to approximate the binomial distribution when :

@ Wevplemev LITeUeLTeTS G&MIMWLOTS FFMIIHLIL] LITeUsE @& LUt LI(H &S 6VITLD.
TLIQUTLRO S 6016V :

0.980
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A : Number of trials n is small, probability of success p is equal to 0.50
WWMHF S6rfledT 6T6v0T6001 15608 (n) MW, Qeummiufer BlI&LP&SHe] (p) 0.50 -5 FLOLD.

B : Number of trials n is large, probability of success p is close to 1
(WM & erfledT 6TevoT6001186M 85 (n) —60TSH QUFlWG Qeummluledr Bl&WEHEe (p) 1-6E& WIS
S HH 6 QHSHGSLD.

C : Number of trials n is large, probability of success p is close to 0.50 — (Correct Alternative)
WWMHF S6rT60T 6T600T6001 18608 (n) —2,60T&I LS QLW g, Qeummiuler Bl&sLD& &6 (p) 0.50
-5 W& TP L @) HSGLD.

D : Number of trials n is small, probability of success p is close to 1
WM & erfledT eTevoTennr 18608 (n) FINlW G, QeummMluiledr BlI&LWLEEHe] (p) 1-6E W& 3 ([HEH 6V
@QBH&HGLD.

Standard Error of an estimator is :

Gl L 1OL_edetT S L LNemLp 6TeoTLIS)

A : Its parameter
9|5 60T S160)600T U6V (&

B : Its mean
BT FME]

C : Its standard deviation — (Correct Alternative)
3560 L Lallevs sl

D : Its standard variable

56T HIL_LLoml
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—[x—p
e 2 | the approximate value of the

In the normal distribution P(X) =

o\2w

Mathematical constant e is :

—(x—n

e 2° , q6iim @Dl UJRIEOEL &HeNg LomMied e -UTeir

PX) = —

a2

G&TML &L :

A 3.1416
3.1416
B: 7.1832
7.1832
C:2.6183
2.6183
D : 2.7183 — (Correct Alternative)
2.7183

Evaluate @J

m@um@&[zy

A: 65
65
B : 56 — (Correct Alternative)




56
C:52
52
D: 25
25

58 58 : : . : :
If X is a random variable with finite mean p and variance o2, then for any value k >0 :

X eteorLG Frmm wmmlufesr wigem FrmEifl p, DHoID ITILITEH o2 6Tevfl6 k > 0 —60T 6T6LEVIT

LS INOGSLD ...........
A 2
P{X— w2k = 5
k — (Correct Alternative)
2
P{X-nlzk} = zz
B: . 0'2
P{IX —n|=k} R

2
C: 3 r:r2
PR wlels o

] o’

P{|IX— p| =K} <k_2
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2
P{IX— n|=k] >‘|‘:—2

If X and $2 are the mean and the variance of a random sample of size n from a
normal population with the mean p and standard deviation o then :

(h @uwedblsmed  Ugeuedled n emey Glemeso.  Foeuminiy  womm
r&iflullsir sgrefl wHmib alewés aufjés sgrerl (WwemmGi X and $2
@uiebmlenev wupeuedlsit FyngHl WOHMID S L eNLEHL (MG p
MWD o 6T60TI6L :

A X and 2 are dependent
X mHmId S2 @esoiHid €6iTenmENLITEIT) FITTh&6mel

B: X and 52 are independent _ (Correct Alternative)

X Hmith 52 QeiRLD €6iENMEILITEITM)| & 6mel

C: X=82
X =82
D: X =252
X = 252

If F is a field, for any f(x), g(x) €F[x] and aeF, (f(x) g(x))' =
F 62 L|6VLD, acF, GLOsILD f(x), g(x) €F[x] 6T6oflev (f(x) g(x))' =

A T'(x) g) - fix) g'(%)
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62

f'(x) g(x) - f(x) g '(x)

B : f'(x) g(x) + f(x) g '(x) — (Correct Alternative)
f'(x) g(x) + f(x) g '(x)

C:f(x) g(x) +'(x) g '(x)
f(x) g(x) + f'(x) g '(x)

D : f(x) + g(x)

f(x) + g(x)
o 1 -3
Therankofthematrix| 1 0 4 |is
-3 4 0

@ng Siwsnufsir Ssuaflsns { 10 4l=

A

— (Correct Alternative)

A W LW N NN =

4

Let S and S' be subsets of V where V is a vector space. Then :
V 6Tt Qeud LT Qeuerflullev S, S' 6T6dTLIGHT 2 L G600TLD 6T60 16V
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A:L(SUSY)Y=LS+8S"
LSUS)=L(S+S"
B: L(SUS")=L(S) + L(S'") — (Correct Alternative)
L(SUS")=L(S) +L(S"
C:L(SuS)=V
L(SUS)=V
D:L(SUS")=L(S)-L(S"
L(SUS")=L(S) - L(S")

If dimpV = m, then dimp Hom(V; V) 1s :
dimpV = m eT6oflev, dimg Hom(V, V) —ulledr LIfflinmevorid :

A:m
m

B m? — (Correct Alternative)

2m

A polynomial of degree n over a field F can have roots in any extension field.
&6 F —60T L& n LI Q &T600TL 62(H LIGLSIMILIL|S G Temeuulmentadl 6Ths allfleyLM & s UL L
FHETSHHVILD Q& MT600TL.(HJ G LD eLN6VHIS 6Tl 60T 6T600T600T 15560085,
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66

A : at most n — (Correct Alternative)
AHEHLULEFLONS n
B : atleastn
GMOBHSS! n
C: exactlyn
Fiflwms n
D:0
0

The function f(x) = sin{}{(] atx=0hasa:

x =0 61601 Leimeruiled fix) =sin( }) 1601 &MijL] -

A : discontinuity of first kind
(W6 alem&H UL QSITLTEF ULMMene
B : discontinuity of second kind — (Correct Alternative)
@) J60oT LITLD 6U6m 5 U6V Q&ITL &S WM menel
C : mixed continuity
FHVEM6! QG ITLIEFGF W meoTem 6l
D : removable discontinuity
BHasLUUGSR TN QS5TLIFFIWLMmenal

Let f have a derivative at each point of an open interval (a, b) and f is continuous at both end points a and b. If f(a) =
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f(b), then there is atleast one interior point ¢ satisfying which of the following ?

(a, b) —6V 2_6IT6IT R6UGGUT(H LieTerlulaid f euemasUTHILI QUM MIETETS! LDMMILD @MISLI LjeTerl&s 6T
aldMmMID b-UWILESIS QSTLIEFIUITES 2 6Tl 6T60T8. f(a) = f(b) 6T60T16V, BLD & 600TL_6UmMlev
TS L LLTSH) Q&S eUTm (b LiaTerfllmeus @ me& LD ?

A:f'(c)>0
f'(c)>0
B:f'(c)<0
f'(c)<0
C: f'(c) =0 — (Correct Alternative)
f'(c)=0
D:f'(c)#0
f'(c)#£0

Let f: [a, b] = R be defined as f(x) = J . W

10, x imafional

Then :

f: [a, b] — R €T60IM) &ML f(x) = {1. x  rational

0, x imational

CTEITMEUITM)| EUSHIILIMIHEHUILL L H] 616015, €T6uTl60
" [f=0and [f=0

jf=0 LoMMID [f=0




B: -
If=DOﬂd _[fz]

If=0 HmID [f=1

C: - ;
|f:1c:mdjf=1

[f=Twomub [f=1
R [f=0
= — (Correct Alternative)
ff= | LopmID [f=0
68 68 Let E be a set of measure zero and define f=co on E. Then :
E 94,607 LL2 s3I 2|66y 6L 62(1H &5600TLD LOMMILD E —60T L& £= oo 6T60T5. 6T6016V

A [f==
'E
lgea
. | f=0 :
JE — (Correct Alternative)
[Ef B
C: o




(%) = (0€£x<1,n=1,2,....). Then {fa} is on

[0, 1].

f(X) = _ 0 < x< 1, n=12....) eclled, [0, 1] @eir
xZ 4+ (1 = nx)*

fftn .

A : bounded
QUTLDL|6eDL WIS
B : unbounded
QUILOLIMMS!
C : converge uniformly
Frre Gallulb
D : uniformly bounded — (Correct Alternative)

GImeoT eUILDL|6m LIS

If a, and by, are the coefficients in the Fourier series

f{x}=%+ > (a, cosnx +b, sinnx

n=1

for a piecewise confinuous function f defined in the interval (—=, =), then :
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f{x}l=%+ 3 (@, cosnx +bo, sinnx) 6T60TM  LLFlL Q&mLiflsit, a, wmmibd b,
n=1

eTeoTLI6or Lyl (GEWISMmIGET. f 6T60TU&| (-, =) —60 euenUMISGSILL (B

U@SHeuriliuns Q&L jFFiumeor FmijL eTeofled

A lim a, =0, lim b, =0

lim a,=0, lm b,=0

—a n—x
B: lim a,=0 Im b,=0
n—sac Mi—soo

lim a.,=0, lim b,=0
N—C N—oo

C: Jim @,=0, lim b,=0
n—so n—»o — (Correct Alternative)

lim a,=0, Im b, =0

n—o0 n—00

D: lim aq,=0, lim b,=0

N—o n—w

lim a,=0, Iim b, =0
n—x n—o

The Fourier transform of f(x) = 1, ford <2 is Jg_@ then the value of
0, for |x| >2 T S

@, . D
J[ﬁ} dx is :
.D\.

>
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_ 1. for|x <2
|0, for x| > 2

f(x) 601 Lifliiy 2 (HLormHmLD \E !

607 LD&ILIL -

A:m
T
B : n/2 — (Correct Alternative)
/2
C: n/4
/4
D:0
0

The Fourier cosine transform of e 2 is

X2 _aor LW Q& Mem& 60T 2 (HLOMMMLD :

A F 4
T 165241

£
T 165241

B: ,JE 8
T 645241
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C:

2

s

2

—

2

—

8
645241

2
45247

2
45241

1
25241

1
25241

— (Correct Alternative)

If nis @ non - zero integer then the value of — | €™ dx is:

n €T60TLIG| LLSILILD SH6D6LNE sa(h (LO(LD eT6utled QL J‘ % che Lcir OS]

A

0

121

21

: 0 — (Correct Alternative)

—

TR
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at?

The Fourier fransformof e = ,a>0is:

e a>0 61601 FMHLIGHT Lyfluiy 2 (HLommmLomeord .

A 2

— (Correct Alternative)

Q|- Q] —

ol

>
o
1]
pal
QSM

JE
q
e
alE
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_}
If ¢ is the angle between the principal normal n io a curve on a surface and the

surface normal N , then «, =

¢ eT6UTLIS] (b GLMULULIeL €p(f eueneareilsnr GMUILLY CFMGEH5) N -
S@ WMHMID (WH6THD CFMmGS5H] n 5@ @enL_Guiume GaHITEOOILOTS
QEmHHTED « =

A
KCOS ¢ (Correct Alternative)

K COS ¢
B: xsind
K Sin ¢
C:xtand
X tan ¢
D: xsec ¢

K SecC ¢

If xa and xx are the principal curvatures at © on a surface, then the equation of the
Dupin indicatnx is :

where R, = ' and Ry = 1LY

Kg Kp
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Ko WOMID xeo SHH 6(p GUOUILETEL © -@eb 2 66  (LNH6EITENLD

QUENEITEUGHENTS: @ (HH&TED L6 @6iTiq HTL_[fl&Herleir FLOGTLTE 60! :

@RiE R, = - OHOID R, = -
K,

Kg

A:
E—G+R—3=2h,z=2h
X ¥
E—3+E—3=2h,2=2h
X Y

B: Rax2+Rby2=2h,z=h
R,x%>+Rypy?=2h,z=h
C:R,y?+Ryx?=2h,z=2h

R,y% + Ryx? =2h, z=2h

D: 2 2
;_ + ;_ =2h,z=h
a b — (Correct Alternative)
2 2
K_ + L =2h,z=h
R Ry

Two directions (1;, m) and (1,, m,) at a point on the surface are conjugate then :

GmUTLILI6e e Lemerfluflev (1), m;) LMHMILD (I, my) EH W @ Tevor(h) HeM&FHEBHLD &) 6t 6voT Ul
6T6of 16V :

A
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— —
LIl + (ms + myy) + Nmm, =0

— —
L r]lz + {|]m3 + m‘ﬂz] =5 Hm;n12 =0
B: — —

_’

- — —
LK + M{lms + ml5) + Nmm, =0
C:ih+lmy+ml) +mm,=0
Il + jmy + myl, + mym, =0
D: i +2(1jmy + ml) + mymy =0

1112 + 2(111’112 + 1‘1’1112) & mlmz =0

.
Either é = % or EZé\s Iog{é] = 0, in conjunction with F = 0 expresses the condition

that the parametric variables may be

E U . o= E ' . . . ' .
— = — ARLAN legl=1 =06 1O I F = 0 &T60T S (KLU $Sem6TT &S
G Y 2 = guav Q(G_] Dol D @ @

ClHT6HoTL GHI6M6TOTILIEVE LOMHISONLIT60TS)

A : asymptotic

asymptotic

B : isometric — (Correct Alternative)

isometric

C : conjugate




conjugate
D : orthogonal

orthogonal

7 7 If at a point P, the Gaussian Curvature is maximum then the point P is called :

&@(H LJeiTerfl P —6v & merdluedt euemerne| Lilemas 6T6ufl6v P 6TedTLIS) :

A : Parabolic point
LiFeuemerTud LjeTerf]

B : Hyperbolic point
ST LITeUem6TU L6Ter]

C : Elliptic point — (Correct Alternative)
BeTeul L Lyeerfl

D : Both Parabolic and Hyperbolic

LIFeU6em6T U LoMMILD AB\LITeueme6Tul LjeTer]

80 80 : ; .
Draw the network from the given precedence relationship :
Event No. : ] 2,3| 4 5 & /

Preceded by : | Starfevent| 1T |2,3| 3 |4,5]|5, 6

MeiTeu(pLd eNeUTRIGELHSE (LTIflend 2 mene CsTHGE Llen6nLgHens

EUEMIJILIGYLD
Event No. : (GI&TLI)) l 2,3| 4 | 5| &6 | 7
(WeirgIflenin eteior: | QGMLM@GW QML | 1 |2,3| 3 4,556




~
]
2
=
:
Q
=
<
~—
Q
]
=
o
o

N

_




The relationship between the time estimates of PERT Networks are : where t , - optimistic time; t ;, : pessimistic time; t
m-most likely time and t g-expected time.

PERT QBLQaIMT&H G &6 et Chy S LT 19ME& @6 UullevmeT 2 me ; @mi& t , -
2pU19 181619 8 CBITLD, t, - GLienilidleivig.& GBITLD t ,, - el (HLOLID GBI MHMILD t g -
TRTUMISEGD CHISS WD GMISEH M.

A : ]
fy = — (4t +15 +1)

— (Correct Alternative)

T = < (4t + 1o +1p)

B: 1
fo = 5 {4fm + 1o + To)
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1
f = St + 1o + 1)

C: 1

ty = (4l + 1o + 1y
3 = %:419 g + )
Dty =ty + 1o + 1)
- %{Aﬁm i 41

A particular item has a demand of 9,000 units/year. The cost of one procurement is Rs. 100 and the holding cost per
unit is Rs. 2.40 per year. The replacement is instantaneous no shortages are allowed. Then the economic lot size and the
number of orders per year are respectively as :

@0 GOILLLL QUITIHEBHE S 24,600T(H 8 G 9,000 W60t (h 86T C&HemeUUTH 2_6TETS.
Q&BTETUNSEG 6 Cl&F6VE] eh. 100 LDMMILD (H W60l (h&E 606Us H (H& G LD C1F6v6) 3,600T(Hh &G er.
2.40 915 2 _6Temsl. 2 Leorlq Inmmni(h) LoMMILD LIMHMTEHEGeMMU|LD e &8 LU LeNlevemev.
SN Q W6oflev QILIMTIHOTITSTT 2|66 L0MMILD 24,6007 M TEOT [T L_[J867T160T 6T600T600115560) 5
(LLENMWITS

A : 866 units/procurement and 11 orders/year.

866 WL60flL/ Q& MTET(LNG 6V LDMMILD 11 ST L7/, 6007 (h)
B : 850 units/procurement and 5 orders/year.

850 W,60flL/ Q&MeT(NGH 6V LDMMILD 5 QY T[T/ 34, 600T(H)
C : 866 units/procurement and 16.4 orders/year.

866 WL60f1L_/ Q&METINSH 6V LDMMILD 16.4 ST L[J/34,600T ()

D : 866 units/procurement and 10.4 orders/year. — (Correct Alternative)




&3

84

83

84

866 W,60flL/ Q& MeT(LNGH 6V LOMMILD 10.4 91T LJ/34,600T(h)

Chapman - Kolomogorov equation is :
FITLIGL6T — GaHMTCMELMGEHTEIMeY &FL06oTLM() 6T60T LIS :

A:pn=pn-mpm g<cm<y
PR=pR-MpM (<m<n
B:pn—pn-mpmg<m<np
pr=pn-mPmg<m<p
C:pn=pn-mpm g<m<p
Pil=po-MpmM (<m<n
D:pn—pn-mpm (<m<n- (Correct Alternative)
Ph=ph—-MpM (<m<n

The Hazard rate function of the system is :

BLOUSSSH 6T emlille eamaFrmiLl eSS FIiL

A: . RM)
=5
_ R
=R

B = ,ﬁfim

((t) = H] R.()
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Co o = ﬁ] Ri(H)
g
r{t) = IIR; (1)
. n
b: rt) = X5(f)
=l —(Correct Alternative)
n
rtt) = S

=1
If T is an arbitrary operator on H whose matrix relative to B is [a;] then :

H -e01 1g meor GMIL1LT606VIT Q& U160l T 60T &M 5SS {600f] B = [0;] 6T6vT160 :

ATTZ - (ayy +agp)T + (0 qagp - 0200 T=1
T2 - (0 + o) T + (@107 - @y00tp1) [ =1
B T2 - (o) + ag)T + (ag905 - ay0091)) 1# 1
T2 - (0 + 0p2))T + (0 yapp - 0120p)) 1 # 1
C: T2~ (g + 0py)T + (a0 - G105 ;) I = 0 — (Correct Alternative)
T2 - (0 + o) T + (01105 - @12021) [=0
Dt T2 - (ayy +app)T + (009 - 0y2091) T£0
T2 - (agy + agp) T + (ag100; - 412001) 1#0

Let'x 'be an element of a Banach Algebra A then the spectral radius r(x) is :
'X '~ L60TS] A 6T60TM LIMeoTTE @) Uuledlev 2 6iTerm e( LeiTerfl 6Teoflev @ & 60r BIT6L allLEl @b TLD r(x)
6TeOTLI S
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A lim || x|
lim || x™||?
B:Inf{A\|:Aeo(x)}
Inf {|A| : X € 6 (X)}
C: lim || x™ ||1/ ' — (Correct Alternative)

lim ” < ”l/n

D: lim ” Xl/n ”n

lim ” Xl/n ”n

In a Banach algebra A of A = C then its Norm satisfies : Where K is (+)ve constant
A 6T60TM LIM6oTTE @)Uledl6v A = C er6vflev A —eor GBIfluleumental : K — Wlemas tomndled

Al xy|[=K]| x| ||y |- (Correct Alternative)
I xy [[=KIx [y
B:lxy[[=K{x] |yl
[ xy [[=K x|yl
C:lixyl[zK[x]|]|y]
Ixyl[zK[x[[y]
D:llxy[[=K|x][|y]|
Ixyl[<K[x[[y]
Every maximal left ideal in a Banach algebra A is

A 6T60TM LIGOTITE @) UM 8560011 &H 5T 6L 2 _6TerT @eucs\eurr@ IHFULF QLS gHm 2 mILILLD
eTeoT LILI(hILD.
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A : regular
RIS
B : singular
RBEOLD
C : open

BnbH5S!
D : closed — (Correct Alternative)

(CAPCERE

If T 1s normal in a Hilbert space H, x is an Eigen vector of T with Eigen value A, M;'s are the Eigen spaces of T then
which one of the following statement is not true ?

T eTeoTLISI H 6160t eMleLVLIT L. 565560 2 _6T6T @) U6V LIMTE0T @) U1&HER), T —60T 8255601 LOGHILIL] A

9| HMETEOT 35607 H)60)F UI60T x, M;'s 6T60TLIGT £3860T Q661G 6T 6T6vfl6v, &L &5 600T LM MmleL 6T
2_eooTemLOUTl6LEm6L ?

A : xis an Eigen vector of T* with Eigen value .
T* —60T @&60T LGN 7. SSHMSIT6UT 28607 HlEMEFILIEIT X
B : M;'s span H
M, —serfleor BLL LD H
C : Mj's are not pairaise orthogonal — (Correct Alternative)
M, -&&6rTleV 6TH& @ TevoT(h LD C&F MG T G &F MG & SIS 6T 606V
D : M; reduces T for all i
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RaIQAUTIH M; —1D T -8 GOMEHR S

The Maximum Modulus of f(z) =2 z + 5 i on the closed circular region defined by |z|< 2 is :

IZ<2 epLUUL L el L UGS etevflev, f(z) =2 z+ 5 i —-607 A& AT\ &meot WL GIUSILIL]

A:4
4

B:5
5
51

51
D : 9 — (Correct Alternative)
9

A non-constant Harmonic function has in its region of definition.

Lnmledl @jeveuTs EFmenT FMJL &G euenFLmISsLUULL LGS U6

A : a maximum and a minimum
& A &LImeTallD, LSS & 6eMmeUTerSI0n
B : a minimum only
&8 Gemnmeumeoral oL (hiLD
C : a maximum only
N5 9H&0meorsl DL (HLD
D : neither a maximum nor a minimum — (Correct Alternative)

LNem& @)6V6VTLNSYILD LHIFE GHeMe ©)6V6VITLOILD

@ H&HGLD.
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An analytic function comes arbitrarily close to any complex value in every neighbourhood of an :

6THS (I F1EH&H6V DHLILINMG LD (h LGLILMII6] FTFLTETS 62(H QBHMmRIS W H LIS

A : essential singularity — (Correct Alternative)
(WDEH W 6(H MBI LLIL|6T6r]
B : essential non -singularity
(N&H W 6 ([HMIGH e L0UWITLIL|6Terf]
C : essential isolated singularity
WEHW LNFhs e @masemnLnLIL|6Ter]
D : essential non -isolated singularity
WEHW LNflwm eppmisemnnLiLeTer]

If f(z) is analytic in an open disk A and for every closed curve y in A, Then :

A 6T60T HMHS HHL_196V f(z) LG UNMME FMTLIMSHELD y @ CLOLYUI 6U6D)6ITeU T8 6D
@ H&GLEUTS :

A [fl) dz=2mi

v

_['ffz} dz=2ni

B: I'f{zj dz=0
y — (Correct Alternative)

I['f{zj dz=0




C:_fﬂﬂdz=21
¥

jﬂﬂdz=21
b

D:lﬂﬂdz=ni
[ﬂadz=ni
- (e* +zsinhz) . g
Evaluate l ——— - dz where C is the circle |z | =4,

& (z—if
’~ (e +z sinhz)
e i
GUL_L LD -

dz —sowl WHINES @G C esng |zl= 4 esim

A:-2mi(l+mi)— (Correct Alternative)

2i1(1+mi)
B:2#n1(1+m1)
2wi(l+mi)
C:2mni(l-m1)
2ni(l-mi)
D:2wni(1-mi)
2wi(l-m)

The solution of the total differential equation yzdx + xzdy + xydz=01s:
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yzdx + xzdy + xydz = 0 6T60TM QDTS UM HEG & (LD FLO6OTLITL 19.60T 6 6TedTLIS)

A:xy=c
Xy=¢
B: & _ .

C:xty+tz=c
Xtytz=c¢
D : xyz = ¢ — (Correct Alternative)

XyzZ =C

For the differential equation x%(1 - X)y” + xy’+y=0
xX(1-x)y" +xy’ +y=0 6T6QILD QUM FHCGH(L FLOGTUTL &GS :

A : x=1 is an ordinary point
x =1 6T6OTLIS 6p(H FTSHITT600T L|6Terf]
B : x =1 1s a regular singular point — (Correct Alternative)
x =1 6TeOT LIS 6(H 62(LO IS TeoT FIMLIL] LjeTerf]
C: x=01s an irregular singular point
x =0 6TEOTLIG! @ @R(OMmISMHM F UL LjeTerf]
D : x =0 is an ordinary point

x =0 6TeTLIGI @ FMGMevor LeTerf]
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The partial differential equation obtained by eliminating the function f from x +y + z = f(x2 + y2 + z%)

X +y+z=1f(x2+y?+2z2) 6TOTM FLOGTUITL 196V @@BHS -8 HHH R &G0 LGS alemSHEHEQSH 1D
FLoerum® :

A:(y-2z)p+(z-x)q=x-y—(Correct Alternative)
(y-2)p+(z-x)q=x-y
B:(yt2p-(z+tx)q=x+y
(ytz)p-(z+x)g=x+y
C:yp+xq=xy
yp T Xq =Xy
D:px+qy=x+y
pX+tqy=x-+y

Let Prn(x) be the Legendre polynomial of degree n and if R,[0) = - % then the value

1
of _[F"nz{x]dx is equal fo :
-1
Pn(x) 6T60TUIG Uig n Glameo  eOlar G UMY GaHMenel,  LMHMILD
5 1

Pr(0) = — o= eT6ulled [ B2 (x)dix 60T DA :
B

A 2
13 _ (Correct Alternative)

@™
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)
| k3 wn| ka ;|m

The partial differential equation by eliminating the arbitrary function from f(x +y + z, x2 + y2 + z2) =0 is :
f(x +y+z x> +y?2+2%) =0 eTe0oTm TN SeoflFemawimet FmyenLl BEHERW LN60T 2_6TerT LGS
U &H &GS (LD FLO6OTLT() :

A:(z-y)p+ (x-2z)q=y-x—(Correct Alternative)
(z-y)p+(x-2)q=y-X

B:(z-y)q+(x-2p=x-y
(z-y)q+(x-zp=x-y

Cix2-x+y2-y+2z2-2=0
x2-x+y2-y+zz-z=O

D5X2-y2+zz-x-y+z=0

2

X2-y2+22-x-y+z=0

A letter 1s known to have come either from TATANAGAR or from CALCUTTA. On the envelope 2 consecutive letters
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TA are visible. What is the probability that the letter come from CALCUTTA ?

TATANAGAR 2606081 CALCUTTA —616V @ (BHS! 62(H &19.HLD Qb SI6TenSl. 519858 5 601 GLoGev 2
QSTLI 6TSHSISHEHE6T LDL_(HLD &Mool (PIGHMSI. TA DL (B Q& 6flauns: 2 6Temgl. &ITmhige6T
CALCUTTA -al6L @S HS &HLq S0 aUHSI6TETS 6T60T Hl&LDS 56 SevoT(H L& SHa]LD

A: 4
I'T" _ (Correct Alternative)
s
11
B: ;3
11
3
11
C: 6
11
o
11
D: 7

The probability that A hits a target is % , and the probability that B hits the target is

= Both shoot at target. Find the probability that afleast one of them hits the

target. (ie] A or B hits the target.




. @60 A SeLELE] B G 6T

| ko

A —60T HIBLD &&H6)] &. B —601 HIHD H&H6)

Neu&NS ienL 1Ll BGD §56) HTHSHI(ha

A1l
20 _ (Correct Alternative)
11
20
B: 12
20

12
20

C: 13

20

E

20

D: 14

20

14

20

102 102 Which is incorrect statement ?

L9 60T6U (H6U 60T6U M MIEIT &56UMITEOT 6UMTEHT SN Fa NI :

A : The probability of every event is non negative (P(A) > 0)

6UQUMT(IH Bl& L6 Bl&LEEH6] Genm GHILILIMME P(A) >0
B : The probability of a certain event is 1 ie P(s) =1




G Leall L BloLpeer Blewssa] P(S) =1

(ﬁ'memmmmMyﬂanmmmmmeaﬂﬁmimPMﬂ:1_«bﬂmhﬂmmmwﬂ

BHL&S @S BlaLpelleT BISHLEHEHa) P(d) =1
D : The probability of a union of disjoint events is the sum of probability of events themselves. (ie) P(A | U A 5) =
P(A 1)+ P(A )
RETMIHQSHTEOTM Q& TLTLMM Bl&HLDESH6&H6N 60T C&TLIL eumn6dr b8 LD & 8 686N 60T
Fa(HBSWNES FLOLD () P(A | U A ) =P(A 1) +P(A )
103 103

2 0<x<1

Let (X, Y) be joinfly distributed with PDF f(x, v] = ,
0 otherwise .
What is marginal density function f; (x) = ¢

(X, Y) €T60TM) FLOGUMLILIL OmmledliLleiT PDF
(2 0<x<]
f{x, 't,":l = < :
0 LOOUY  gefieh

SIG6T LoMydlered HHDHHE AL GHH FmiL f(x) =2
A [1—x 0<x<1

ffx) = 4
i) | 0 otherwise

]l—x D<x<1

f|{KJ=1 5 it
MM
B: f](x}=4_2x D<x<]

| O otherwise




-Z2x D<xu<]

0 LDDLIG

Cif g [2-2¢ 0<x<]
L 0 otherwise

filx) = {

— (Correct Alternative)

[2—-2% OD<x<]

"W=1"0" oL

D: il 2% D<x<]
=10 otherwise

f{x]—{h O<x<|
" 1o wbpug

104 104
If the joint probability density of X and Y is given by

2

—x+2y) O<x<], I<y<2
T Y

0 otherwise

What is the mathematical expected value of E(X | Y3) 2
X mmib Y & @@ Foeuminy wrhiseflsar sl (h 6Hepsse]
AL GBE e

2

Z{x+2y) 0<x<1,1<y<?2
o, ?{x y) X y

0  LDMMUILG GTEHS

X Y3 61 SeouN&HelLied eTHITUMTLIL E(X | Y3) —60T LOSIIL] SHT600Ts.




— (Correct Alternative)

105 105 Suppose that P(X =0) =1 - P(X = 1); if mean = 3 variance; find the probability of X = 0.
Bl&HPSH6 P(X=0)=1-PX = 1) eteormyd, Frr&ifl =3 ellevs s eUfeHs FFTaFf] eTeormild
@ BB M6V, X = 0 —60T [B&HLDE 56| 85TE00TS.

A:i
13
9
13

B:i
13

C:

| en
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106

| en

| —

— (Correct Alternative)

il
3
Let xy, X9, X3, ... X, denote the sample observations, then the sample mean is :

X[, X, X3, .. X, 6T60TLIGOT Sn [JI5&I 2_6TGBM& & &H60 601 0TS [f1 56T 6Tevtlev, LnMHfl&Herfletr Fymaif]

A i
i=%EK1
i=1 — (Correct Alternative)
-| n
X=—3"x
‘/_‘ I
nis
. n
B: - in
i=1
n
= in
i=1
C: _ 12
>(=—Zi<i
25
_ 1i
K= X
25
D:

I
i
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2
i=1

In large sample test, the sample size n

Quiflw L& Kl Cxrailev, LDTH ] y6meal n

A:n<30
n <30
B : n>30 — (Correct Alternative)
n > 30
C:n=20
n=20
D:n=10
n=10

If X is a binomial random variable with the parameters n and 8, n is large, and

A
8 = 5, then :
m

X 6T6iTLg) soLeTTAILEOlsiT EFMM LIS = SUG6T SeTeGCHTLSET nIDMMID 6, n
aisiiLg) Quliugy, 6 — <, SiiLig Oisled :
n

6 (1-8)

with (1-a) 100% confidence
— (Correct Alternative)




M M N N
’e (1-8) A ’a (1-9)
g — T, <9< +72,,. ¥ 79 ILIT60T
%/ - o/ - ,(1-at) 100% 2 MG &l
B:
A H“_B}«ie«:a+z
778 B 7

M
g “n_E] with (1-a) 100% confidence
’le (1-8) ,l'éi' (1-6)
6 -7 <8<8 +17 o (1—c) 100% 2_ ILHT60T
8 7 N MIHLIM60TS)

P )
C . A ] M d a 'I M
i 6(1+8 £ 6 ({1+8 ; -
8 -7 f ) <8<80 +/ { ! with (1—c) 100% confidence
% n % n
A A
o —z . oitte) St I8 IE’“J’E} (1-a) 100% 2_my&lLimeor
2 n [y_ h n I ’ !_DI gﬂ
D : A .* i
' e M =
8 _7 5‘“25‘}{9{9 £7. H[IZHJ with (1—e) 100% confidence
a0 %\ n
F A ¥ A h M » A
0 — Iy 901-9] . o 58 i 81-8) | (1) 100% 2 MISILIT6UTS)
%\ n %\ n

109 109 . .
What is the formula to find the - statistics ?

6T6OTE0T G S H THMS L1 LIWLeTLI(HSE) 12 - S 6memeuLl LI LILITUWIEVITLD ?

A ),;2 _ {n—1}52

= with (n—1) d.f
o — (Correct Alternative)
ey
2 _ % (n=1) d.f

L]




B: 5 ns

? =22 with (n-1) dif
9]
2
2 ns
2= (n-1) df
02
C: 2
2 =22 with (n-1) d.f
")
2
2= n1) dif
O
D: 1152
2= NS G -2
[8]
2
L=lots o
g

1o o A person threw 10 dice 500 times and obtained 2560 times 1, 2 or 3. Then the value of the statistic z in testing the
population proportion is :

@ LT 10 L6066 500 (Lnemm ef&1D QLTSI 2560 (Lhemm 1, 2 3606V S 3
& 60L& 6oTmeor. QLD Q&5 TE&HS Wiletr B GTEEFMISHmE 2jemell(hLD z —3j6eTelfLl 1q60T IDGILIL] :

A 5 5000
2 /5000

v}
[ (8]
& %

D‘ ‘
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111

112

25
D: ﬂ

5 —(Correct Alternative)

62
5

The Central Bureau of Educational and Vocational Guidance was established in

&Hevall LDMHMID QS TL6L euLLl&BTL (D H6ed 60T LD&SHIWI LievolUl&s LD @6V BlmieulILL L&l

A 1955
1955
B: 1965
1965
C: 1954 — (Correct Alternative)
1954
D : 1964
1964

The main outcomes of the scheme are envisaged as Universal Access, Equity and Quality, promoting
Vocationalization of Education and Strengthening of Teacher Education Institutions.

T L 53 60T (LN&H G U S|IDFMRIFHETITS | 60)60T6U (HE LD 6UMUILIL], FLOBlen6v LDMMILD
&I, Hevallemwl CLWLLIGSSHH6v, SFF W T Hevail Bl miel6oTHISGem6T euswLILI(h &S &6V
LG\ WI60T & ([HS5L1LI(H) &) 60T 60T.

A : Samagra Shiksha — (Correct Alternative)
FLOETT F1& 8T




B : SSA
SSA

C: RMSA
RMSA

D : Transformation of Aspirational Districts

SpTelenl (Hb melL L MHigelev wmmmid )L 1D

13 13 The Union Budget has proposed to treat school education holistically without segmentation from pre-
nursery to class 12.
uleoflwedr LIL QgL 0TSl BIFF1&HE PHMGSUI SLL LD (PS&6V 12 —9LlD UG LIL| 6UeD T

& auLmney LerTerl sevallemul (L WenWImil BL&& (LNeTOTNIHES.

A : 2018 - 19 — (Correct Alternative)
2018 -19
B:2017-18
2017 - 18
C:2016-17
2016 - 17
D:2015-16
2015-16

1414 The position of principal of DIET is equivalent to that of

el L A flwi uulme mloieuers S et (DIET) (Ln&evaul LigeN 6TedTLIS! LISeN & &
FLOLOMEOTS!.

A : DEO
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116

115

116

DEO

B : CEO — (Correct Alternative)
CEO

C: BEO
BEO

D : College Principal

sHeuarifl (pgevelly
1s inferred from behaviour an individual shows in a given situation.

6TedT LIS 62 GMILILINL L @& Lhmlemeuuilev seoflliLil L s BlsLERuNeSmHECsH
Qs &DE!.

A : Maladjustment
RSHSIMPLILIS GemMLIT(H

B : Frustration
6T600T 6007 8> (& 60) 6V 6

C : Aggrement — (Correct Alternative)
2 Lot

D : Aggressive
L160)&60)L0

The first Society for mental hygiene was established in

LO6OTH6VE S M & MTE0T (LNS6V 3{6mLDLIL| 6L BloieLILIL LS.

A: 1919




1919
B: 1907
1907
C : 1908 — (Correct Alternative)
1908
D: 1910
1910

17 17 The psychoanalytic approach to personality was first created and advocated by

3L EHen LD Hmeor LMl 2_emeil ey LIGLILITUIE 2{60IE(LD6emm L6V (NG 606V
S (HUMHSHLILILL &I

A : Eysenck
@) GlerV6oTSH
B : Sigmund Freud — (Correct Alternative)
F&G evor L LN mulL
C : Cattell
CHHGIH6
D : Allport
QL60GUIMTTL

18 18 The growing indiscipline and misbehaviour to teenagers may be viewed as a result of deep-seated

ST UGISH LD 6HBIS 6T OWLD, SEIMTET HL &S S &1&S5! albeu s
o aTemMihed —  ereorm LNgaFaeneoruiler ellemerGeu oy, @ L.




A : Emotional problems — (Correct Alternative)
LD6OT 2_600TTOUE T &1 556V
B : Physical problems
o L6vaFmy Fl&&H6
C : Cognitive problems
A MeyFmy F &5 60
D : Economical problems
QUMTBETMHTIE &Fl&HE6V

19119 The Rorschach Inkblot test was developed by Harmann Rorschach, the

G ITENVENVITE @)\ MIGLIGTITL. G&F M 60)60T60) UL AMTHLO6T GIITIT6N &TE 2_(HeUTES 6OTTI.

A : Swiss psychiatrist — (Correct Alternative)
6nVal6M LOGITH6V LO([H &SI 6 [T
B : Amercian psychiatrist
IQWIfl&&IT LD6OTHEV LD[HESI6U T
C : England psychiatrist
@ BISVITHS! LDETHEV LD(HESIEUT
D : Germany psychiatrist
QT LO6IT LOEOT[H6V LO([HE ST

120 120 Personality is a characteristic that it is hardly possible to measure it.

3, @EH 60D 6T60TLI S 6(H G60TTHFWINTEGSGLD 65 emallelg &1q60TLD.

A : Complex — (Correct Alternative)




&8 8 6V TeoT
B : Learning
&MM6V
C: Assessment
LG ILTH)
D : Unique
560115 8160 meoT
121 121 in the curve should give the teacher an opportunity to look for influences which may have upset the

progress.

GLLDOLIML LG 60TGLO6L &MTEH S H 6m6tT 6 MLIH S & 601608 858 S Lq.LLI6U M M) 60)60TE &5 TETDILD
Tl enerr, LAF LTSS —— aUeme6Te] SHHR M.

A : Fatigue
Gemyey

B : Loss of interest
@IS 6oTemILO

C : Illness
92 L 6VH6eVE G5 (h

D : Plateaus — (Correct Alternative)
SLemL

122|122 1s the aggregate or global capacity of an Individual to act purposeful to think rationally and to deal

effectively with his environment.

— TETLS @RS 6ME0THS 6V6VG 2 6V&aT el HMenLnemn Ul GLOBlen6evsHCa ML




SM&HCHTEHLT QFWLLIBHSH, UGSSMICUTH A bHH &5 LnHmID HmLdLIL
QFWeLLI(heUSTGSLD.

A : Intelligence — (Correct Alternative)
ievorenor pdley
B : Interest
b6
C : Motivation
26N &L
D : Memory
Blemeure)
Storage and transfer model has been suggested by

Gl wmmid LFlrmm &l 260 U b&lIen e LU (H6Ters.

123 123

A : Atkinson and Shiffrin — (Correct Alternative)
LB eorgeor LnmmID adlsLirfleor

B : Levin and Stout
QevelledT LnMMILD VL ITEY L

C : Cermak and Craik
Q&FFLOMES LnMHMILD B TUIS

D : Craik and Lokhart
SQIUIS LDMHMID GeVTEHaM ML

124 124
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Choose the right pair :

(a) Humanistic Realism (i) Irasmus and Milton

(b) Social realism (i) Lord Montaigne and John Locke
{c} Sense realism (iii) Mulcaster and Francis Bacon
{d) Neo realism (iv)] Whitehead and Betrand Russel

gflurer sllsmLenw Gsiey Clawis :
(a) wesflaGrw Ym 2 sremwwimsTy (i) @rreuwsh wHmID Wlsvr sbr

(b) FepasLl LM 2 eSsTeRnLOWITST T (ii) oL wmetorGLSST WM eomeir Geurs
(c) yevstt 2 ewTy Lm 2 ssoremowmeny (i) DEL&TEVLIT DMmILD dolSlymssTeFleny smeuLssT
(d) ysl ym 2 _ssETeRLWITETH (iv) GleumuiiiGlamt wmmib GluLFesTl Feuensy

A 1 (a)=(i1), (b)~(iii), (¢)-(iv), (d)-(1)

(a)-(i1), (b)-(iii), (c)-(iv), (d)-(1)
B : (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)

(a)-(iii), (b)-(iv), (c)-(1), (d)-(i1)
C : (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv) — (Correct Alternative)

(a)-(1), (b)-(i1), (c)-(iii), (d)-(iv)
D : (a)-(iv), (b)-(1), (¢)-(i1), (d)-(ii1)

(a)-(iv), (b)-(1), (c)-(ii), (d)-(ii1)

is concerned with comprehension of verbal relations, words and ideas.
6TEOTLIE QUMTIS6M& S 66T QGSMLIL], Q&FMMH&ET LDMHMILD 6T600T600T RIS 66T L H&!

Q&HTETEHH6V.

A : Attention factor

& 6U60T SITJ6001
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B : Memory factor
[B160)60T6U S 55ITIJ 6001
C : Behaviour factor
BL G605 &ITJ600r]
D : Verbal factor — (Correct Alternative)
QUMWY &ITyevot]
"Intelligence is the ability to adapt to one's surroundings" - who said this statement ?

"2 GBIV S DL HHeUMNG ST QSTETEBLD HlMeor L|SHFTedgSH6rn" @)HH FaMemm
o MIWLGUT WIT ?

A : Terman
QL[ LoeoT
B : Thorndike
&ITJ600T60) L&
C : Jean piaget — (Correct Alternative)
3601 LIWmGe
D : Sterm
6NVGQLJLD
Using the storage of old ideas and experiences is called

CFLIE S eSS LiIemLUl F[H 5 60)60T56M 6T LD, 3 60ILIAIMHISM 6T LWaTURSSHel6mE
6TEOTSHGMITLD.

A : learning mass




&M Blemm
B : doing
QFWISH6V
C : transfer of learning
&MHM6L LDMMHMLD
D : apperceptive mass — (Correct Alternative)
LUS&SSDIWLD Blenm
theories belong to the school of Gestalt psychology and cognitive psychology.

GaHMLUMTH&HET Q&B6VLITEVL 2 amadlulsy LnMmILD S MleummHmev 2 emedlulev
LieTerflemwis CEFJHHemeU & LD.

128 128

A : Behaviourist
BHL &S W6V
B : Tolman's Sign learning — (Correct Alternative)
GLITeLGLN6DT160T {60 LWITETLD & MHM6V
C : Guthrie's Continuity
&5 Wer QFHTLIFH
D : Hull's drive reduction
N6V 196N T6U G6emMLIL
Learning is a
FHMHM6V 6T60TLIS!

129 129

A : Product




LI 60T Q LIT(H 6T
B : process — (Correct Alternative)
QFWeL(LNEM
C : result
allemerey
D : discussion
alleUms LD

1301130 Emotional experiences are associated with some drives.

© 60T [J 6 L1LL, T6ULDITEOT | 60ILIG IS 6T &6 O HSHGEHL 60T QIGITLIJL|60ILLLIED6.

A : behaviour
BLSHOS
B : perception
L| 6086307 76
C : feeling
9 _600TI6)
D : instincts — (Correct Alternative)
O _6IT(6TH 600T [ 6) & 61T

131 131 The word emotional intelligence was introduced by whom

® 60T JEFUWILILIL L Hl6voTevorMl6) 6T60TM Q& M6V WITFMTeL MI(LN&GHLID Qe WLl L&

A : Dr. John Mayor and Dr. Peter Salovey




Dr. 3medT GLOWF LoMMILD Dr. LI LJ &mevGeu Uil
B : Dr. Daniel Goleman's — (Correct Alternative)

Dr. GL60flul6L G&MeLELO 60T
C: Mr. Yetta Lautenschlager

Mr. QUIL_LIT evITesTervg el wly
D : Jerome Singer and Stein
QCIMD AMISGT LDMMILD N6 Lullesr

1321132 Lawrence Kohlberg, a psychologist belongs to the university of

VIMTIEoTerV GSIMeVEILITES, 6T60TM 2 _6medl U6V [BIL|600TT 6THS LIV 6MVEHLNEGMS FTJHE6UT

A : Harvard — (Correct Alternative)
QMTIeUT L

B : Oxford
L&enCUTT(H

C : Stand Ford
eruLimeoorL_ GUITT(h

D : Binghamton
LN 185 mLDL_eoT

133133 Every emotion is accompanied by certain physiological or bodily changes such as increased by

66UGIGUIT(IH 2_600TF&FFIULD GSOILUUILL 2 L6 IDMMHMKISEHL6T CFFHI
67 D LI(H 65\ 60T M 60T
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A : Heartbeat and Breathing — (Correct Alternative)
@ SWSSIQLIL] LDMHMILD &6UTEFLD
B : Body Shaking and Eye blink
2 LeB(H &S0 InMMILD &evor FILOIL L6V
C : Dental pain and Abdominal pain
Li6veuedl Lnmmild euuimieled
D : Finger Shaking and Body Shaking
a1lg6L B &S LDMHMID 2 L6V BH &HSLD
The task to find the altributes that distinguish the one from the other is called

LMmeummled b epetTmlemnsor CaumiLi(h& S &TemIlD &60T60) 06D W aseozrr@d]mras@m
GClFWevmeTSl 6T60TM D6DILPE&HEVITLD.

A : Concept mastery
HHHS! ML 56V
B : Concept attainment — (Correct Alternative)
058! CHT&FF)
C : Concept formation
&HHSHS 2 ([HEUTH6V
D : Concept maturity
H5H5S PHTFF
, play a big role in influencing a person's overall growth and development.

, @ BUFleT (N QLTSS 6UeMTIEFF LDMHMID eueTFEFFRemW LIMTHLILUSH 6L Gurflw

LIMIE R &R MSI.




A : Social Maturity
Feps (PHITEF)
B : Emotional development
DTG EU(DEDR eU6T &G
C : Mental development — (Correct Alternative)
LDGOTEUET & &)
D : Emotional Maturity
LDETQ U EFR NHFTFH

136 1136 A person's helps him in achieving adjustment and advancement in other aspects of his growth and
development.
& BLIfleor ST QETIEF IDMHMID UTTFSF EMJHS LDFHIG6T v Fifl Q&G0
LOHDILD PETEETHMSENS 2160 AU S 26| FH M.
A : Environment
GLoBlemey
B : Heredity
Lo
C : Socialization — (Correct Alternative)
FeLNSHLOUILDTEH &6V
D : Physical Environment
Lm& &L blemey
137 137

1s an important pre-requisite for cognitive development.




SMUTMMEL UETIEFF 5 G 6TEOTLI G 62(H (LNEG W (LN6DT [B) LI &6 60T WG LD.

A : Attention — (Correct Alternative)
&H6U60TLD
B : Interest
QL6
C : Attitude
LOGOT LI LITE0T60)LD
D : Aptitude
&l meor
The task "Learning to get along with age mates" is a development task of the age

R55 UG 60T @)6m600THS CLIMEUMS SMMEV', 6TeTeRILD QUETIEFEFMT Q& W6VT6oTS)
AWSIHGI WS

138 138

A:12-18 yrs
12 - 18 el Gl
B : Birth - 6 yrs
LU (N&6V — 6 aulLSl
C : Early Adulthood
P&t PHIT LIGeuLD
D : 6 - 12 yrs — (Correct Alternative)
6-12 UGl

139|139 When foetus emerges from womb and has its first contact with the external environment is called
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& STLUSH O mHE QeueflliLiGm CUME 31&60T GederflliLm @ LDV 60TTeT Q&L 6oL
6T60T MPEHLILIGH M.

A : pre - natal

Nol4&E (PHengenl Blemev
B : post - natal — (Correct Alternative)
Noliyse Lbens W mlemev
C : social transmission
Felps LUflnmmmLd

D : anal stage

&S blemev

The process by which a conceived organism is turned into full-fledged being is called

R HHSSF1H5 2 WIflerld (LM WTETS TS WTMHMLILIHILD G&FWeVLNemm 6TEOTM)

MPESLILIOSH M.

A : maturation
WLWeIFes

B : fertilization
5055556

C : growth and development — (Correct Alternative)
QIETIES LDMMID (LPedTGeTMMLD

D : genetic and environment factor

LT LIWeL LDMHMID & MHMIE GLO6V &ITIT600T & 6T
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Name the temple where the ceiling is painted with the life story of Mahavira :

6Th &8 Camalledlerr GLMEmem Jullev L& melT 6T UMD &H &MU F & 516G D epal U bIS 6T
euemn W LILL(heTers! ?

A : Aihole temple

0CammGear Camailey

B : Thiruparuthikundram temple — (Correct Alternative)
FBLLGBSH & Geormin Csmealley

C : Kanchi temple
FHTEHF & Camalley

D : Kailashanathar temple

MEHVMFHTHT o mailey

Muthupet in Thiruvarur district was less damaged by Gaja cyclone due to the presence of :

FHeumenT LDMaULl L&SH 60T (N5 CULemLUll6L DL (KD &M L{W6d60TTev Gemmibs 3{6Tey
CFx5CL gMLUL LS. @&SM@E &ITJ600TLD I MI(& 66l :

A : Evergreen forest
LI&r6mLD &IT(H 6T

B : Mangrove Forest — (Correct Alternative)
2 el FILL ST 6T

C : Deciduous Forest

@6V BH T &HTH &H6T
D : Tropical Rain Forest




LD6DILPE SHIT(H & 6T

143 43 Which part of the Indian Constitution specify the emergency Powers of the President ?

G WTFS &H606V6eUfleT QBIHESHLY 5TeV P SHTIMHISEN6T &M& G0 @)H5 W
TFWevem DLILN6T LGS 6Tl ?

A : Part XVII

L& XVII
B : Part XVIII — (Correct Alternative)

L&S XVIII
C : Part XIX

L&S) XIX
D : Part XX

LGS XX
Which one is wrongly matched ?

FHUMITEH QUITIHH S WL 6TeTend &0l H & :

144 144

A : Palar - Talagavara in Kolar district
LITeVITMI - G&MeLTH LOMaUL LS55 6V SH6V&HaIT T
B : Then Pennaiyar -Nadhi Durga hills
Q S60T GILIGIOTEM 600T LT - [HIHS) SIF&H ST LDEM6V
C : Thanirabarani - Pothigai hills in Papanasam
STOlgUpenl] - LUTUBTFS S W 6TeT GILITH 6m8 LD6m6V
D : Vaigai - Brahmagiri hills of coorg district — (Correct Alternative)




MEUMT - BT LDMaUL L ST eveTer LNTnG il & erml

145 145 In India domestic circuits are supplied with an alternating current of potential :

@QbHwmeilev efl &G flw WlergmHmigertley LiweTL®LD TmHens WleTerWsHSLD :

A :320/330V
320/330V
B : 220/230 V — (Correct Alternative)
220/230 V
C: 120/130V
120/130 V
D:110/120 V
110/120 V

146114613 2000 Sydney Olympics, who won the bronze medal in our country ?

2000 &)L _6of] 6pedDLNE GLIMLL19 U6V Q6U6BOTSH 6V LIS &SI QlelstTm @b W T Wiy ?

A : P.T. Usha
L9.19. 2_aqIT
B : Karnam Malleswari — (Correct Alternative)
&HJeoorLd eV Gevenveurf]
C : Anju Bobby George
SiEha LML orpey
D : Mary Kom
Gl s




147 147 TMV Stands for :
TMV ereoTLIG 60T el fleuma 1D ¢

A : Tobacco Mosaic Virus — (Correct Alternative)
Ljem & Wiletev G506V 6m6U 6N
B : Tomato Mosaic Virus
555 merfl G&HLN6L 606U 6N
C : Teak Mosaic Virus
CH8©E CHLN6VL 6Mm6UT6N
D : Tiger Mosaic Virus
L]69 G506V emeUTen

148 1148 'Which district in Tamil Nadu has the highest forest cover (sq .km)?

SLLDBITL 960 3F &8 SHM(H 86M6TE G&MeoorL NMaIL L LD (F.9\1S) 615! ?

A : Dharmapuri — (Correct Alternative)
S]]

B : Dindigul
&) 6307 (D) 85 55 €0

C : Coimbatore

GHMTWIDLS ST
D : Vellore

Geugyry
149 149




How many Amino acids are used in Protein synthesis ?

LTS 2 mUSH U6V 61856060 LAIG6oTT L6V IS 6T LIL6dT LI & & LILI(H 8 6dTmeor ?

A : Two types
@\ 7600T(h) 61605 6T
B : 64 types
64 6160 &H & 6T
C: 20 types — (Correct Alternative)
20 6UEM &G 6IT
D : Three types
eLNGOTMI 6 60) 85361

150150 'Water in lakes and ponds freeze only at the top is due to :

g fls6T LnMHmID GeTmiseTer GLMmUTLIL LG 2 60 MBS LIevT188L_19WIM6V eLnLLILIL L & 60T
G ITJE00TLD :

A : Specific heat capacity of water — (Correct Alternative)
Hrfledr Seor QeuliLl eFDLISEmedT

B : Freezing nature of water
&\ J6UMmIS6r160T 2_6mM &6V LI6voTL|

C : Anamalous expansion of water

Brileor oesoruiC L eflifley

D : Surface area of water is large in lakes and ponds

Biflest MmUY g fl&eT InmmID Gemmigsefley & &I




**Indicates deleted for evaluation.




